SAXON MATH

Course 2

Lesson 37 + Area of a Triangle * Rectangular Area,
Part 2

Power Up

— Facts

— Mental Math

— Problem Solving
New Concepts

— Examples

— Practice Set
Written Practice
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SAXON MATH

Write the number that completes each equivalent measure.

Course 2

1. 1 foot = 12 inches 15. 1 kilogram = 2.2 pounds

2. 1yard = 36 inches 16. 1 pint =__16 ounces

3. 1 yard = 3 feet 17. 1 pint =_2 cups

4. 1 mile = 5280 feet 18. 1 quart = 2 pints

5. 1centimeter = 10 millimeters 19. 1gallon = 4 quarts

6. 1 meter = _1000_ millimeters 20. 1 liter = 1000 milliliters

7. 1 meter = _100_ centimeters 21-24. 1 milliliter of water has a volume of
8. 1 kilometer = 1000 meters ﬁra;d;agfisazfa%g%gé of
9. 1inch = _2.54 centimeters _1000 cm*andamassof 1 kg.
10. 1 pound = 16 ounces 25-26. Water freezesat 32 °Fand 0 °C.
11. 1ton = 2000 pounds 27-28. Water boils at 212 °F and 100 °C.
12. 1 gram = 1000 milligrams 29-30. Normal body temperature is 98.6 °F
13. 1 kilogram = 1000 grams and 37 °C.

14. 1 metricton = 1000 kilograms
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SAXON MATH

Course 2

Written Practice

1. 2tol

2. 52 cars

3. 45 seconds

4. Subtract $1.30 from $10 to find how much the 3 gallons of milk
cost. Then divide that number by 3 to find how much each gallon
costs.

5. a. 12 muffins 5-2 1:::;:;”;
b. 6 muffins 3 o, { & muffins

6. 44in. %\;vciaenot { |6 muffins

7. 81 in.%; Students should use both addition and subtraction to find
the area. For addition, they should show that (9 x 7) + (6 x 3) =
81 For subtraction, they should show that (15 x 7) - (6 X 4) = 81
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SAXON MIATH

Course 2

8. a. 15 12. a. 51—0
b. 3 b. 2
c. 20 13. 15in.

9. a. 049 /S /
b. 0.51 14. / /

c. 51% 15. a. 48cm
10. a. 3184.56 b. 108 cm?
b. 3200 16. 0.5>0.06
11. a. twenty-five hundred-thousandths

b. 60.07
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SAXON MATH

Course 2

Written Practice continued

17. a. Sample Space = {AA, AB, AC, BA, BB, BC, CA, CB, CC}
b. P(Aatleastonce) = g

18. 14 27. 6

19. 25 28. a. 25

20. 4.05 b. 0.025

21. 1.5 29. fourth quadrant; Drawings should support the
22 30 location of (3, —3) in the fourth quadrant.

23 5% 30. about 50 miles

24. 15

25. 255

26. 5
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